

# **HHS Public Access**

Author manuscript Ann Intern Med. Author manuscript; available in PMC 2024 April 18.

Published in final edited form as: *Ann Intern Med.* 2023 March ; 176(3): 320–332. doi:10.7326/M22-2216.

## Risk Model–Based Lung Cancer Screening: A Cost-Effectiveness Analysis

lakovos Toumazis, PhD<sup>1</sup>, Pianpian Cao, PhD<sup>2,†</sup>, Koen de Nijs, MSc<sup>3,†</sup>, Mehrad Bastani, PhD<sup>4,†</sup>, Vidit Munshi, PhD<sup>5</sup>, Mehdi Hemmati, PhD<sup>1</sup>, Kevin ten Haaf, PhD<sup>3</sup>, Jihyoun Jeon, PhD<sup>2</sup>, Martin Tammemägi, PhD<sup>7</sup>, G. Scott Gazelle, MD, MPH, PhD<sup>5</sup>, Eric J Feuer, PhD<sup>8</sup>, Chung Yin Kong, PhD<sup>9</sup>, Rafael Meza, PhD<sup>2</sup>, Harry J de Koning, MD<sup>3</sup>, Sylvia K Plevritis, PhD<sup>10</sup>, Summer S Han, PhD<sup>6</sup>

<sup>1</sup>Department of Health Services Research, The University of Texas MD Anderson Cancer Center, Houston, Texas

<sup>2</sup>Department of Epidemiology, University of Michigan, Ann Arbor

<sup>3</sup>Erasmus MC-University Medical Center, Rotterdam, the Netherlands

<sup>4</sup>Feinstein Institute for Medical Research, Northwell Health, New York

<sup>5</sup>Department of Radiology, Massachusetts General Hospital, Boston

<sup>6</sup>Quantitative Sciences Unit, Department of Medicine, Stanford University, Stanford, California

<sup>7</sup>Department of Health Sciences, Brock University, St. Catharines, Ontario, Canada

<sup>8</sup>Division of Cancer Control and Population Sciences, National Cancer Institute, Bethesda, Maryland

<sup>9</sup>Division of General Internal Medicine, Department of Medicine, Mount Sinai Hospital, New York, New York

<sup>10</sup>Department of Biomedical Data Sciences, Stanford University, Stanford, California

### Abstract

**Background:** In their 2021 lung cancer screening recommendation update, the US Preventive Services Task Force (USPSTF) evaluated strategies that select individuals based on their personal lung cancer risk (risk model-based strategies), highlighting the need for further research on the benefits and harms of risk model-based screening.

**Objective:** To evaluate and compare the cost-effectiveness of risk model-based lung cancer screening strategies vs. the USPSTF recommendation and to explore optimal risk thresholds.

**Corresponding Authors:** Summer S. Han, Ph.D., Assistant Professor, Neurosurgery and Medicine, Stanford University School of Medicine, 3180 Porter Dr. Office 118, Stanford, CA 94304, summer.han@stanford.edu; Sylvia K. Plevritis, Ph.D., Professor and Chair of Biomedical Data Science, and Professor of Radiology, Medical School Office Building (MSOB), 1265 Welch Road, Stanford, CA 94305-5464, sylvia.plevritis@stanford.edu.

<sup>&</sup>lt;sup>†</sup>equal contribution

Access to Data and Data Analysis

IT and SSH had full access to all the data in the study and take responsibility for the integrity of the data and the accuracy of the data analysis.

**Design:** Comparative modeling analysis.

**Data Sources:** National Lung Screening Trial; Surveillance, Epidemiology, and End Results program; US Smoking History Generator.

Target Population: 1960 US birth cohort.

Time Horizon: 45 years.

Perspective: US health care sector.

**Intervention:** Annual low-dose computed tomography in risk model-based strategies that start screening at age 50 or 55, stop screening at age 80, with 6-year risk thresholds between 0.5% –2.2% using the PLCOm2012 model.

**Outcome Measures:** Incremental cost-effectiveness ratio (ICER) and cost-effectiveness efficiency frontier connecting strategies with the highest health benefit at a given cost.

**Results of Base-Case Analysis:** Risk model-based screening strategies were more costeffective than the USPSTF recommendation and exclusively comprised the cost-effectiveness efficiency frontier. Among the strategies on the efficiency frontier, those with a 6-year risk threshold of 1.2% or greater were cost-effective with an ICER less than \$100,000 per qualityadjusted life year (QALY). Specifically, the strategy with a 1.2% risk threshold had an ICER of \$94,659 (model-range: \$72,639-\$156,774), yielding more QALYs for less cost than the USPSTF recommendation, while having a similar level of screening coverage (person ever-screened 21.7% versus USPSTF's 22.6%).

**Results of Sensitivity Analyses:** Risk model-based strategies were robustly more costeffective than the 2021 USPSTF recommendation under varying modeling assumptions.

Limitations: Risk models were restricted to age, sex, and smoking-related risk predictors.

**Conclusion:** Risk model-based screening is more cost-effective than the USPSTF recommendation, thus warranting further consideration.

### Funding Source: NCI.

### Introduction

In 2021, the US Preventive Services Task Force (USPSTF) issued their updated recommendation on lung cancer screening that lowers the starting age from 55 to 50 years and the minimum cumulative smoking exposure from 30 to 20 pack-years relative to its 2013 recommendation.(1) As part of their lung cancer screening update, the USPSTF reviewed the performance of strategies that select individuals based on their personal lung cancer risk (hereon referred to as risk model-based strategies)(1, 2), in addition to strategies that select individuals based on categorical age and smoking history (hereon referred to as categorical age-smoking strategies) such as their final recommendation. Risk model-based strategies use validated risk prediction models to estimate the personal lung cancer risk of individuals within a prespecified time horizon, based on a set of risk factors associated with lung cancer.(3–5)

Several prior studies have evaluated the performance of risk model-based screening for lung cancer.(2, 4, 6–13) To inform the 2021 USPSTF recommendation update, the Cancer Intervention and Surveillance Modeling Network (CISNET) Lung Working Group conducted a comparative modeling study and reported that risk model-based strategies avert more lung cancer deaths and result in fewer radiation-related deaths than categorical age-smoking strategies.(2, 14) Interim findings from the International Lung Screening Trial demonstrated that risk model-based lung cancer screening programs improve sensitivity versus categorical age-smoking strategies.(15) Several international trials and pilot studies announced their plans to evaluate the feasibility of risk model-based screening strategies for lung cancer, with some of them reporting encouraging preliminary findings.(15–20)

Despite the potential for risk-model based screening to improve screening performance, comprehensive evaluations of the cost-effectiveness of risk-model based screening programs have been largely lacking. Prior studies have estimated the cost-effectiveness of categorical age-smoking strategies for lung cancer.(21–25) Kumar and colleagues conducted an analysis comparing the cost-effectiveness across different subgroups stratified by estimated risk scores,(26) but was limited to the National Lung Screening Trial (NLST) study population, thus not generalizable to the U.S. population. The cost-effectiveness of risk model-based screening was evaluated for the UK,(27) Canada,(28) and Australia,(29) but no study to date has compared the cost-effectiveness of risk-model based screening versus the 2021 USPSTF recommendations.

The cost-effectiveness of risk model-based screening could depend on the risk threshold used to select individuals for screening given the differences in health outcomes associated with screening individuals from different risk strata.(3, 4) Several studies evaluated the effectiveness of risk model-based screening programs by assessing lung cancer mortality reduction or life-years gained.(15, 16, 30–34) These studies used the PLCOm2012 model and considered specific risk thresholds (e.g., 6-year risk of 1.3%, 1.5%, or 1.7%) that were shown to yield similar sensitivity or eligibility as compared to past screening trials or to the USPSTF recommendations. However, the optimality of these risk threshold from a cost-effectiveness perspective cannot be determined.

In this study, we evaluated and compared the cost-effectiveness of risk model-based strategies versus the 2021 USPSTF recommendation using a range of clinically meaningful risk thresholds discussed in the literature or implemented in contemporary international lung cancer screening programs(4, 15, 16, 34).

### **Methods**

We used a comparative modeling approach involving four validated microsimulation models of the CISNET Lung Working Group that informed the USPSTF recommendations on lung cancer screening, to assess the cost-effectiveness of risk model-based screening strategies (Supplemental Table 1).(2, 14, 35)

### **CISNET Model Description**

Four microsimulation models of the CISNET Lung Working Group [the Microsimulation Screening Analysis (MISCAN)-Lung Model from Erasmus University Medical Center,(36) the Lung Cancer Policy Model from Massachusetts General Hospital,(37) the Lung Cancer Outcomes Simulation from Stanford University,(38, 39) and the model from University of Michigan(40)] were independently developed to evaluate lung cancer screening strategies. Because the models differ in modeling assumptions and mathematical formulation of lung cancer development and progression, the comparative analysis allows us to assess the impact of model specification uncertainty. All models were calibrated to lung cancer incidence and mortality data from the NLST and the Prostate, Lung, Colorectal, and Ovarian (PLCO) cancer screening trial.(41) An overview of the models and their assumptions is provided in Supplemental Methods, Supplemental Table 2 and the literature.(14, 35, 41, 42)

### Study Population and Smoking Histories

Lung cancer related events for 1 million men and women were simulated separately, using smoking patterns of the 1960 U.S. birth cohort that is representative of the U.S. population targeted by screening. Smoking histories and age at death from competing causes of death were obtained from the CISNET's smoking history generator (Supplemental Methods).(43–45) Simulated individuals entered the study at age 45 and were followed until age 90 or death, whichever occurred first, corresponding to a study horizon between 2005–2050.(2, 21)

### **Risk Prediction Models**

We assessed individuals' lung cancer risk using the PLCOm2012 risk prediction model and the Lung Cancer Death Risk Assessment Tool (LCDRAT).(12, 46) We selected these models since they are ranked among the best performing externally validated risk prediction models for lung cancer and allowed evaluation of screening programs that select individuals based on their risk of being diagnosed with lung cancer (PLCOm2012) versus risk of dying from lung cancer (LCDRAT).(4, 11) We used simplified versions for both models restricted to age, sex, and smoking-related risk predictors to estimate the personal risk of ever-smoked individuals, which maintained high predictive performance (Supplemental Methods, Supplemental Tables 3–4).(4, 30) We considered a set of clinically meaningful 6-year lung cancer risk thresholds ranging from 0.5%–2.2%, because programs within that range yielded a positive net benefit versus the NLST eligibility criteria.(2, 4, 15, 16, 30, 34) Individuals were eligible to undergo annual lung cancer screening if they satisfied the age eligibility criteria and their risk was above the 6-year risk threshold specified by each screening strategy.

### Health Utility and Cost Inputs

We evaluated the cost-effectiveness of screening programs using the U.S. health care sector perspective.(21, 23) We adjusted the remaining life-years of simulated individuals for quality of life using published health utilities associated with aging, lung cancer screening, screening findings, lung cancer stage at diagnosis, and terminal care (Supplemental Table 5).(47–50)

Costs associated with screening and diagnostic procedures were obtained from the 2020 Centers for Medicare and Medicaid Services reimbursement rates based on their corresponding Current Procedural Terminology code (Supplemental Table 6). Downstream treatment costs associated with specific phases of lung cancer treatment were adopted from a published analysis of SEER/Medicare data and converted to 2020 U.S. dollars using a 3% annual inflation rate (Supplemental Table 7).(23, 51) Health utilities and costs were standardized, discounted using a 3% annual rate, and shared across the four models.

### **Outcome Measures**

Primary outcome measures included: (1) the cost-effectiveness efficiency frontier, i.e., the line segments connecting strategies that yield the highest health benefit at a given level of cost, and (2) the incremental cost-effectiveness ratios (ICER) of each screening strategy relative to the strategy preceding it on the efficiency frontier.

Each model estimated the sex-specific health benefits and costs associated with each strategy. We normalized the results to 100,000 individuals alive at age 45 with no history of lung cancer and derived the overall population outcomes for each of the CISNET models by aggregating the sex-specific results. We calculated the arithmetic mean for the costs and quality-adjusted life-years (QALYs) for each screening strategy from the model-specific results for the overall population, and then estimated the ICER of strategy *i* relative to strategy *j* as follows:

$$ICER_{ij} = \frac{Cost_i - Cost_j}{QALY_i - QALY_j}$$

where strategy *i* corresponds to the strategy that is being evaluated, and strategy *j* denotes the reference strategy.

Screening strategies were considered cost-effective if they (i) were on the cost-effectiveness efficiency frontier and (ii) had an ICER less than \$100,000 vs the preceding strategy on the efficiency frontier(52–54).

Secondary outcomes included lung cancer mortality reduction, life-years gained from screening, number of LDCT screening exams, overdiagnosis rates, and strategies' net monetary benefit(55). Results are presented per 100,000 individuals from the general population (including individuals who were ineligible for screening, e.g. never-smoking individuals) alive at age 45 with no history of lung cancer, unless stated otherwise.

### **Base-case and Sensitivity Analyses**

For the base-case analysis, we used the PLCOm2012 and LCDRAT risk models to estimate the lung cancer risk of ever-smoked individuals(12, 46). We assigned a one-time disutility of 0.01 (3.65 days)(22) per indeterminate finding (that is a Lung-RADS category 3 or 4A finding(56)) applied from the time of detection up until the next follow-up exam, and a one-time disutility of 0.001 (8.75 hours)(50) per LDCT exam assuming perfect adherence to screening.

For practicality, all sensitivity analyses were conducted using the PLCOm2012 risk model. We examined the robustness of our findings to changes on the disutility levels associated with indeterminate findings (disutility range: 0.005–0.02(22)) and regular LDCT exams (disutility range: 0-24 hours(50)). We evaluated the cost-effectiveness of screening assuming age-specific adherence rates observed in current clinical practice (Supplemental Table 8).(57) To incorporate potential implementation challenges associated with risk model-based programs, we also considered a scenario with lower adherence rates for the risk model-based strategies relative to the adherence rate used for categorical age-smoking strategies (Supplemental Methods). To reflect current practice that discourages screening for high comorbid individuals, we evaluated the cost-effectiveness of risk model-based strategies when individuals with short life expectancy (less than 5 years from the time of the LDCT screening exam assessed annually) were ineligible for screening.(2, 21) Also, we evaluated the cost-effectiveness of screening accounting for the additional cost associated with the risk assessment (Supplemental Table 6). Finally, univariate, and probabilistic sensitivity analyses were conducted to assess the sensitivity of our findings to changes in the values of key model input parameters (Supplemental Methods).

### Results

### **Base-Case Analysis**

The results of our base-case analysis using the PLCOm2012 are shown in Tables 1 and Figure 1A. Risk model-based screening strategies were more cost-effective than the 2021 USPSTF recommendation. Notably, all the categorical age-smoking strategies—including the 2021 and the 2013 USPSTF recommendations—were strongly dominated (i.e., more costly yet yielded fewer QALYs) by risk model-based strategies. The cost-effectiveness efficiency frontier derived from the analysis using the PLCOm2012 model included 12 risk model-based strategies that started screening at age 50 years. Among the 12 strategies on the cost-effectiveness efficiency frontier, the 6 strategies with a 6-year risk threshold of 1.2% or greater were cost-effective (i.e., an ICER less than \$100,000). Notably, the strategy using a 1.2% 6-year threshold yielded the highest health benefit among the cost-effective strategies (ICER=\$94,659 per QALY gained; on the frontier of 3 out of 4 models, ICER range across models: \$72,639-\$156,774) (Supplemental Tables 9–12). The 1.2% PLCOm2012 strategy yielded higher reduction in lung cancer mortality than the 2021 USPSTF recommendation (12.4% vs. 11.7%), while maintaining a similar level of screening coverage (21.7% vs 22.6% individuals ever screened) (Table 2).

The analysis using the LCDRAT model—that predicts the risk of 6-year lung cancer mortality (vs. 6-year lung cancer incidence in PLCOm2012)—yielded findings similar to the PLCOm2012, although the cost-effective screening strategy that yielded the highest QALYs used a 1.1% 6-year LCDRAT risk threshold (vs. 1.2% risk threshold with the PLCOm2012) with an ICER of \$97,284 per QALY gained (ICER range across models: \$67,728-\$143,125) (Figure 1B and Table 3).

Model-specific results showed that the efficiency frontiers were still comprised of only risk model-based strategies across all CISNET models, although the range of cost-effective risk thresholds varied across the models from 0.9% or greater to 2.2% or greater for the

PLCOm2012 model (Supplemental Tables 9–12) and from 1.0% or greater to 2.2% or greater for the LCDRAT model (Supplemental Tables 13–16).

Our findings using the net monetary benefit (to replace the ICERs) are presented in Supplemental Tables 17–18.

Sex-specific analyses showed that the efficiency frontiers were still comprised of only risk model-based strategies, and both risk model-based and categorical age-smoking strategies were more cost-effective for women than for men (Supplemental Tables 19–20). The analysis performed using unadjusted life-years (versus QALY) with the PLCOm2012 model yielded similar results to the base-case (Supplemental Table 21).

### Sensitivity Analyses

When we assumed maximum disutility values associated with LDCT exams and indeterminate findings, the efficiency frontier was still comprised only of risk model-based strategies that initiate screening at age 50 years (Supplemental Table 22, Supplemental Figure 1). However, among the strategies on the efficiency frontier, only risk model-based strategies with a 6-year risk threshold (PLCOm2012) of 2.0% or greater (versus 1.2% or greater in the base-case) remained cost-effective under the maximum disutility values. Specifically, the strategy with a 2.0% 6-year risk threshold was cost-effective and yielded the highest health benefit with a mean ICER of \$84,113 (on the frontier of all models, ICER range: \$53,951-\$980,439). When directly compared against the 2021 USPSTF strategy, the 2.0% risk model-based strategy was estimated to screen fewer people (15.8% vs 22.6% of the general population ever screened), requiring about half the screening exams compared with the USPSTF (1.9 million vs. 4.0 million LDCT per 100,000 people) but yielded lower lung cancer mortality reduction (9.8% vs. 11.8%) (Table 3).

When we incorporated imperfect adherence rates into screening (see Supplemental Methods), the efficiency frontier was still comprised only of risk model-based strategies and the range of cost-effective risk threshold remained unchanged even when the risk model-based strategies were assumed to have lower adherence (up to 85% level) than the USPSTF recommendations (Supplemental Tables 23–26). When we used the lower and upper bounds for the age-specific adherence rates, the strategies on the efficiency frontier remained unchanged but the range of cost-effective risk thresholds changed, with costeffective screening programs becoming more inclusive (i.e. using lower risk thresholds) as adherence rates decreased (Supplemental Tables 27–28). Sensitivity analyses that excluded individuals with limited life expectancy from screening (see Methods) showed improved cost-effectiveness, with overall lower ICERs (Supplemental Table 29) compared to the basecase analysis (Table 2); the cost-effectiveness efficiency frontier was still comprised of risk model-based strategies, thus dominating the 2021 USPSTF recommendation. The analyses that directly compared each strategy including individuals with low life-expectancy versus the same strategy excluding them are presented in Supplemental Table 30. The sensitivity analyses that incorporated the costs associated with annual risk assessment showed that risk model-based strategies remained cost-effective versus the 2021 USPSTF recommendation, especially when the risk assessment costs were incurred by individuals who previously

didn't undergo screening and satisfied the age eligibility criteria (Supplemental Tables 31–32).

The univariate sensitivity analyses for the risk model-based strategy that starts screening at age 50 with 6-year PLCOm2012 risk threshold of 1.2%—which was chosen as the most cost-effective strategy in the base-case analysis using the PLCOm2012 model—showed that the ICERs were sensitive to changes to the values of the health utility associated with Stage I non-small cell lung cancer, and the discounting factor (Figure 2, Supplemental Tables 33–50). The probabilistic sensitivity analysis demonstrated that the strategy with 1.2% 6-year risk threshold was cost-effective relative to the 1.3% 6-year risk threshold strategy with 31% probability using \$100,000 willingness-to-pay threshold (Supplemental Figure 2).

### Discussion

In this study, we evaluated the cost-effectiveness of risk model-based lung cancer screening strategies that use validated risk prediction models to select individuals for screening. We found that risk model-based screening strategies consistently yielded more QALYs and cost savings compared to the 2021 USPSTF recommendation. The cost-effectiveness efficiency frontier included only risk model-based screening strategies that start screening at age 50 regardless of whether the risk assessment was based on lung cancer incidence or mortality. Among the strategies on the efficiency frontier, the strategies with a 6-year risk threshold of 1.2% or greater (with the PLCOm2012) were cost-effective under the base-case analysis. Particularly, the strategy with a 1.2% PLCOm2012 risk threshold yielded more QALY for less cost than the USPSTF recommendation, while having a similar level of screening coverage (person ever-screened 21.7% for the 1.2% PLCOm2012 versus 22.6% for the 2021 USPSTF recommendation).

Of note, risk model-based screening strategies were consistently more cost-effective than the 2021 USPSTF recommendation under varying modeling assumptions, including when a minimum of 5-year life expectancy was included as an eligibility criterion and when imperfect adherence was implemented. However, the range of cost-effective risk thresholds for selecting individuals for screening was sensitive to the risk models used, to the adherence rate, and to the disutility levels associated with regular screening LDCT exams and indeterminate findings. For example, when we used the LCDRAT model that predicts 6-year lung cancer mortality (vs. 6-year lung cancer incidence using PLCOm2012), the cost-effective risk model-based strategies used a 6-year risk threshold of 1.1% or greater (1.2% or great in PLCOm2012). Discrepancies in the optimal risk-thresholds between PLCOm2012 and LCDRAT highlight the importance for lung cancer screening programs to use model-specific risk-thresholds. Further, when we assumed the maximum disutility levels for LDCT screening and indeterminant findings, the cost-effective risk model-based screening strategies used more stringent 6-year risk thresholds (2.0% PLCOm2012 or greater versus 1.2% or greater in the base-case). However, the maximum disutility levels (i.e., 24 hours for LDCT screening and 2% for indeterminant findings) used for our sensitivity analyses may be regarded as conservative compared to the literature.(22, 58, 59) Furthermore, using the cost-effective risk thresholds of 2.0% or greater estimated under the maximum disutility assumption would lead to reduced screening coverage versus the 2021

USPSTF recommendation (person ever-screened 15.8% vs. 22.6%) and lower lung cancer mortality reduction (9.8% vs. 11.8%). If expanded eligibility is one of the key considerations in implementing lung cancer screening programs, the range of cost-effective PLCOm2012 risk thresholds of 1.2% or greater (that include the range of 2.0% or greater) estimated under the base-case—with more moderate but realistic levels of disutility (8 hours for LDCT screening(50) and 1% for indeterminant findings(22))—could present a reasonable solution. The strategy with a 6-year PLCOm2012 risk threshold of 1.2% could lead to a similar level of screening coverage as the USPSTF recommendation (person ever-screened 21.7% vs. 22.6% according to the 2021 USPSTF recommendation), with greater lung cancer mortality reduction (12.4% vs. 11.8%). Ultimately, optimal risk thresholds must be tailored to specific settings based on practical considerations, benefits and harms trade-offs, and resource constraints.

This study is the first to comprehensively evaluate the cost-effectiveness of risk modelbased lung cancer screening relative to the 2021 USPSTF recommendation for the US. Although our modeling study that informed the 2021 USPSTF recommendation on lung cancer screening showed that risk model-based strategies offer a modicum of life-year benefit relative to categorical age-smoking programs, (2, 14) in this study we showed that when we consider the quality-adjusted life-years gained from screening and the costs of screening, diagnostic, and treatment modalities then risk model-based screening strategies offer a substantially higher benefit relative to the categorical age-smoking strategies. The comparative modeling approach and comprehensive sensitivity analyses conducted proved the robustness of the main study findings under varying modeling assumptions. We showed that risk model-based lung cancer screening programs despite generally shifting screening eligibility to older ages when lung cancer risks, as well as comorbidity risks, are higher, (2, 4) remain more cost-effective than the 2021 USPSTF recommendation. Findings from this study are aligned with prior studies, which demonstrated the need to use risk-thresholds that are specific to the risk model used, (4, 30) that lung cancer screening is more cost-effective in women than men, (21-23, 25) and that the cost-effectiveness of lung screening programs is sensitive to the disutility of indeterminate findings.(22) Exploring optimal risk thresholds from a cost-effectiveness perspective identified a range of risk thresholds that could be used as a potential guide for the development of cost-effective risk model-based lung cancer screening policies under different settings and healthcare resources.

Our study has limitations. We used simplified versions of the risk prediction models to assess the lung cancer risk of individuals as done in prior CISNET studies.(2, 4) Consequently, we may have underestimated the cost-effectiveness of risk model-based screening strategies as the full models would be expected to better identify high risk individuals. Modeling additional covariates for the risk assessment (such as family history or race/ethnicity) is challenging because it requires their joint simulation at the population level, accounting for their correlations and time trends(60). We assumed that adherence to annual screening was independent of sex, race/ethnicity, and socioeconomic status.(61–64) Our current models do not incorporate potential issues regarding availability of resources to satisfy the expected increase in the number of LDCT exams,(5, 65–67) nor contemporary treatment modalities. We used the health care sector perspective and ignored productivity loss, impact on the quality of life of caregivers, and physician and facility costs. We assessed

the cost-effectiveness of lung cancer screening for the general US population, but the recommended risk-threshold may not be the optimal for every region/state/heath system given potential differences in the prevalence of lung cancer, sociodemographic risk factors, and practice patterns. Lastly, we did not consider the benefit of offering smoking cessation interventions at the time of lung cancer screening, which have been shown to improve the cost-effectiveness of screening programs(68–71), and assumed that lung cancer risk and false-positive rates were independent(72).

In conclusion, lung cancer screening strategies that select individuals based on their personal lung cancer risk are robustly more cost-effective than the 2021 USPSTF recommendations. Risk model-based screening is cost-effective under a wide range of risk-thresholds, offers flexibility for implementation across different settings, and warrants further consideration.

### Supplementary Material

Refer to Web version on PubMed Central for supplementary material.

### Funding/Support

This study was supported by the Cancer Intervention and Surveillance Modeling Network Award from the National Institutes of Health; grants U01CA199284 and U01CA253858 from the National Cancer Institute (NCI).

### Role of Funding Source

The funder/sponsor had no role in the design and conduct of the study, collection, management, analysis, and interpretation of the data; preparation, review, or approval of the manuscript, and decision to submit the manuscript for publication.

### References

- US Preventive Services Task Force, Krist AH, Davidson KW, Mangione CM, Barry MJ, Cabana M, et al. Screening for Lung Cancer: US Preventive Services Task Force Recommendation Statement. JAMA. 2021;325(10):962–70. [PubMed: 33687470]
- Meza R, Jeon J, Toumazis I, Ten Haaf K, Cao P, Bastani M, et al. Evaluation of the Benefits and Harms of Lung Cancer Screening With Low-Dose Computed Tomography: Modeling Study for the US Preventive Services Task Force. JAMA. 2021;325(10):988–97. [PubMed: 33687469]
- Toumazis I, Bastani M, Han SS, Plevritis SK. Risk-Based lung cancer screening: A systematic review. Lung Cancer. 2020;147:154–86. [PubMed: 32721652]
- 4. Ten Haaf K, Bastani M, Cao P, Jeon J, Toumazis I, Han SS, et al. A Comparative Modeling Analysis of Risk-Based Lung Cancer Screening Strategies. J Natl Cancer Inst. 2020;112(5):466–79. [PubMed: 31566216]
- Ten Haaf K, van der Aalst CM, de Koning HJ, Kaaks R, Tammemagi MC. Personalising lung cancer screening: An overview of risk-stratification opportunities and challenges. Int J Cancer. 2021;149(2):250–63. [PubMed: 33783822]
- 6. Tammemagi MC, Ten Haaf K, Toumazis I, Kong CY, Han SS, Jeon J, et al. Development and Validation of a Multivariable Lung Cancer Risk Prediction Model That Includes Low-Dose Computed Tomography Screening Results: A Secondary Analysis of Data From the National Lung Screening Trial. JAMA Netw Open. 2019;2(3):e190204. [PubMed: 30821827]
- Landy R, Young CD, Skarzynski M, Cheung LC, Berg CD, Rivera MP, et al. Using Prediction Models to Reduce Persistent Racial and Ethnic Disparities in the Draft 2020 USPSTF Lung Cancer Screening Guidelines. J Natl Cancer Inst. 2021;113(11):1590–4. [PubMed: 33399825]

- Katki HA, Cheung LC, Landy R. Basing Eligibility for Lung Cancer Screening on Individualized Risk Calculators Should Save More Lives, but Life Expectancy Matters. J Natl Cancer Inst. 2020;112(5):429–30. [PubMed: 31566223]
- Cheung LC, Berg CD, Castle PE, Katki HA, Chaturvedi AK. Life-Gained-Based Versus Risk-Based Selection of Smokers for Lung Cancer Screening. Ann Intern Med. 2019;171(9):623–32. [PubMed: 31634914]
- Robbins HA, Berg CD, Cheung LC, Chaturvedi AK, Katki HA. Identification of Candidates for Longer Lung Cancer Screening Intervals Following a Negative Low-Dose Computed Tomography Result. J Natl Cancer Inst. 2019;111(9):996–9. [PubMed: 30976808]
- Katki HA, Kovalchik SA, Petito LC, Cheung LC, Jacobs E, Jemal A, et al. Implications of Nine Risk Prediction Models for Selecting Ever-Smokers for Computed Tomography Lung Cancer Screening. Ann Intern Med. 2018;169(1):10–9. [PubMed: 29800127]
- Katki HA, Kovalchik SA, Berg CD, Cheung LC, Chaturvedi AK. Development and Validation of Risk Models to Select Ever-Smokers for CT Lung Cancer Screening. JAMA. 2016;315(21):2300– 11. [PubMed: 27179989]
- Toumazis I, Alagoz O, Leung A, Plevritis SK. A risk-based framework for assessing real-time lung cancer screening eligibility that incorporates life expectancy and past screening findings. Cancer. 2021;127(23):4432–46. [PubMed: 34383299]
- 14. Meza R, Jeon J, Toumazis I, Haaf Kt, Cao P, Bastani M, et al. Evaluation of the Benefits and Harms of Lung Cancer Screening With Low-Dose Computed Tomography: A Collaborative Modeling Study for the U.S. Preventive Services Task Force. Evidence Syntheses, No. 198tr. ed. Rockville (MD): Agency for Healthcare Research and Quality (US); 2021.
- 15. Tammemagi MC, Ruparel M, Tremblay A, Myers R, Mayo J, Yee J, et al. USPSTF2013 versus PLCOm2012 lung cancer screening eligibility criteria (International Lung Screening Trial): interim analysis of a prospective cohort study. Lancet Oncol. 2022;23(1):138–48. [PubMed: 34902336]
- Darling GE, Tammemagi MC, Schmidt H, Buchanan DN, Leung Y, McGarry C, et al. Organized Lung Cancer Screening Pilot: Informing a Province-Wide Program in Ontario, Canada. Ann Thorac Surg. 2021;111(6):1805–11. [PubMed: 33039364]
- Lim KP, Marshall H, Tammemagi M, Brims F, McWilliams A, Stone E, et al. Protocol and Rationale for the International Lung Screening Trial. Ann Am Thorac Soc. 2020;17(4):503–12. [PubMed: 32011914]
- Crosbie PA, Balata H, Evison M, Atack M, Bayliss-Brideaux V, Colligan D, et al. Implementing lung cancer screening: baseline results from a community-based 'Lung Health Check' pilot in deprived areas of Manchester. Thorax. 2019;74(4):405–9. [PubMed: 29440588]
- 2020;Pages. Accessed at European Commission, CORDIS EU research results at https:// cordis.europa.eu/project/id/848294 on 3/9/2022 2022.
- Pasquinelli MM, Tammemagi MC, Kovitz KL, Durham ML, Deliu Z, Guzman A, et al. Addressing Sex Disparities in Lung Cancer Screening Eligibility: USPSTF vs PLCOm2012 Criteria. Chest. 2022;161(1):248–56. [PubMed: 34252436]
- Toumazis I, de Nijs K, Cao P, Bastani M, Munshi V, Ten Haaf K, et al. Cost-effectiveness Evaluation of the 2021 US Preventive Services Task Force Recommendation for Lung Cancer Screening. JAMA Oncol. 2021.
- Toumazis I, Tsai EB, Erdogan SA, Han SS, Wan W, Leung A, et al. Cost-Effectiveness Analysis of Lung Cancer Screening Accounting for the Effect of Indeterminate Findings. JNCI Cancer Spectr. 2019;3(3):pkz035. [PubMed: 31942534]
- Criss SD, Cao P, Bastani M, Ten Haaf K, Chen Y, Sheehan DF, et al. Cost-Effectiveness Analysis of Lung Cancer Screening in the United States: A Comparative Modeling Study. Ann Intern Med. 2019;171(11):796–804. [PubMed: 31683314]
- 24. Tomonaga Y, Ten Haaf K, Frauenfelder T, Kohler M, Kouyos RD, Shilaih M, et al. Costeffectiveness of low-dose CT screening for lung cancer in a European country with high prevalence of smoking-A modelling study. Lung Cancer. 2018;121:61–9. [PubMed: 29858029]

- Toumazis I, Erdogan SA, Bastani M, Leung A, Plevritis SK. A Cost-Effectiveness Analysis of Lung Cancer Screening With Low-Dose Computed Tomography and a Diagnostic Biomarker. JNCI Cancer Spectr. 2021;5(6):pkab081. [PubMed: 34738073]
- 26. Kumar V, Cohen JT, van Klaveren D, Soeteman DI, Wong JB, Neumann PJ, et al. Risk-Targeted Lung Cancer Screening: A Cost-Effectiveness Analysis. Ann Intern Med. 2018;168(3):161–9. [PubMed: 29297005]
- 27. Hinde S, Crilly T, Balata H, Bartlett R, Crilly J, Barber P, et al. The cost-effectiveness of the Manchester 'lung health checks', a community-based lung cancer low-dose CT screening pilot. Lung Cancer. 2018;126:119–24. [PubMed: 30527175]
- Cressman S, Peacock SJ, Tammemagi MC, Evans WK, Leighl NB, Goffin JR, et al. The Cost-Effectiveness of High-Risk Lung Cancer Screening and Drivers of Program Efficiency. J Thorac Oncol. 2017;12(8):1210–22. [PubMed: 28499861]
- 29. Medical Services Advisory Committee. Public Summary Document: Application No. 1699 National Lung Cancer Screening Program. Australian Government; 2022.
- Ten Haaf K, Jeon J, Tammemagi MC, Han SS, Kong CY, Plevritis SK, et al. Risk prediction models for selection of lung cancer screening candidates: A retrospective validation study. PLoS Med. 2017;14(4):e1002277. [PubMed: 28376113]
- Ostrowski M, Binczyk F, Marjanski T, Dziedzic R, Pisiak S, Malgorzewicz S, et al. Performance of various risk prediction models in a large lung cancer screening cohort in Gdansk, Poland-a comparative study. Transl Lung Cancer Res. 2021;10(2):1083–90. [PubMed: 33718046]
- 32. Tammemagi M, Miller B, Yurcan M, Patel T, Schmidt H, Darling G. Determination of the Eligibility Criteria for Cancer Care Ontario's Lung Cancer Screening Pilot for People at High Risk. American Journal of Respiratory and Critical Care Medicine. 2018;197(MeetingAbstracts).
- Pasquinelli MM, Tammemagi MC, Kovitz KL, Durham ML, Deliu Z, Rygalski K, et al. Risk Prediction Model Versus United States Preventive Services Task Force Lung Cancer Screening Eligibility Criteria: Reducing Race Disparities. J Thorac Oncol. 2020;15(11):1738–47. [PubMed: 32822843]
- 34. Tammemagi MC, Church TR, Hocking WG, Silvestri GA, Kvale PA, Riley TL, et al. Evaluation of the lung cancer risks at which to screen ever- and never-smokers: screening rules applied to the PLCO and NLST cohorts. PLoS Med. 2014;11(12):e1001764. [PubMed: 25460915]
- 35. de Koning HJ, Meza R, Plevritis SK, ten Haaf K, Munshi VN, Jeon J, et al. Benefits and harms of computed tomography lung cancer screening strategies: a comparative modeling study for the U.S. Preventive Services Task Force. Ann Intern Med. 2014;160(5):311–20. [PubMed: 24379002]
- 36. Ten Haaf K, van Rosmalen J, de Koning HJ. Lung cancer detectability by test, histology, stage, and gender: estimates from the NLST and the PLCO trials. Cancer Epidemiol Biomarkers Prev. 2015;24(1):154–61. [PubMed: 25312998]
- McMahon PM, Kong CY, Johnson BE, Weinstein MC, Weeks JC, Tramontano AC, et al. Chapter 9: The MGH-HMS lung cancer policy model: tobacco control versus screening. Risk Anal. 2012;32 Suppl 1(SUPPL.1):S117–24. [PubMed: 22882882]
- Lin RS, Plevritis SK. Comparing the benefits of screening for breast cancer and lung cancer using a novel natural history model. Cancer Causes Control. 2012;23(1):175–85. [PubMed: 22116537]
- Han SS, Erdogan SA, Toumazis I, Leung A, Plevritis SK. Evaluating the impact of varied compliance to lung cancer screening recommendations using a microsimulation model. Cancer Causes Control. 2017;28(9):947–58. [PubMed: 28702814]
- 40. Hazelton WD, Jeon J, Meza R, Moolgavkar SH. Chapter 8: The FHCRC lung cancer model. Risk Anal. 2012;32 Suppl 1(SUPPL.1):S99–S116. [PubMed: 22882896]
- 41. McMahon PM, Meza R, Plevritis SK, Black WC, Tammemagi CM, Erdogan A, et al. Comparing benefits from many possible computed tomography lung cancer screening programs: extrapolating from the National Lung Screening Trial using comparative modeling. PLoS One. 2014;9(6):e99978. [PubMed: 24979231]
- 42. Meza R, ten Haaf K, Kong CY, Erdogan A, Black WC, Tammemagi MC, et al. Comparative analysis of 5 lung cancer natural history and screening models that reproduce outcomes of the NLST and PLCO trials. Cancer. 2014;120(11):1713–24. [PubMed: 24577803]

- Jeon J, Holford TR, Levy DT, Feuer EJ, Cao P, Tam J, et al. Smoking and Lung Cancer Mortality in the United States From 2015 to 2065: A Comparative Modeling Approach. Ann Intern Med. 2018;169(10):684–93. [PubMed: 30304504]
- Holford TR, Meza R, Warner KE, Meernik C, Jeon J, Moolgavkar SH, et al. Tobacco control and the reduction in smoking-related premature deaths in the United States, 1964–2012. JAMA. 2014;311(2):164–71. [PubMed: 24399555]
- Holford TR, Levy DT, McKay LA, Clarke L, Racine B, Meza R, et al. Patterns of birth cohortspecific smoking histories, 1965–2009. Am J Prev Med. 2014;46(2):e31–7. [PubMed: 24439359]
- 46. Tammemagi MC, Katki HA, Hocking WG, Church TR, Caporaso N, Kvale PA, et al. Selection criteria for lung-cancer screening. N Engl J Med. 2013;368(8):728–36. [PubMed: 23425165]
- Hanmer J, Lawrence WF, Anderson JP, Kaplan RM, Fryback DG. Report of nationally representative values for the noninstitutionalized US adult population for 7 health-related qualityof-life scores. Med Decis Making. 2006;26(4):391–400. [PubMed: 16855127]
- 48. Tramontano AC, Schrag DL, Malin JK, Miller MC, Weeks JC, Swan JS, et al. Catalog and comparison of societal preferences (utilities) for lung cancer health states: results from the Cancer Care Outcomes Research and Surveillance (CanCORS) study. Med Decis Making. 2015;35(3):371–87. [PubMed: 25670839]
- 49. McMahon PM, Kong CY, Bouzan C, Weinstein MC, Cipriano LE, Tramontano AC, et al. Costeffectiveness of computed tomography screening for lung cancer in the United States. J Thorac Oncol. 2011;6(11):1841–8. [PubMed: 21892105]
- Caverly TJ, Cao P, Hayward RA, Meza R. Identifying patients for whom lung cancer screening is preference-sensitive: a microsimulation study. Annals of internal medicine. 2018;169(1):1–9. [PubMed: 29809244]
- Sheehan DF, Criss SD, Chen Y, Eckel A, Palazzo L, Tramontano AC, et al. Lung cancer costs by treatment strategy and phase of care among patients enrolled in Medicare. Cancer Med. 2019;8(1):94–103. [PubMed: 30575329]
- Neumann PJ, Cohen JT, Weinstein MC. Updating cost-effectiveness--the curious resilience of the \$50,000-per-QALY threshold. N Engl J Med. 2014;371(9):796–7. [PubMed: 25162885]
- 53. Vanness DJ, Lomas J, Ahn H. A Health Opportunity Cost Threshold for Cost-Effectiveness Analysis in the United States. Ann Intern Med. 2021;174(1):25–32. [PubMed: 33136426]
- 54. Institute for Clinical and Economic Review (ICER). 2020–2023 Value Assessment Framework. Institute for Clinical and Economic Review (ICER); 2020.
- Spieker AJ, Illenberger N, Roy JA, Mitra N. Net benefit separation and the determination curve: A probabilistic framework for cost-effectiveness estimation. Stat Methods Med Res. 2021;30(5):1306–19. [PubMed: 33826460]
- American College of Radiology Committee on Lung-RADS 2020;Pageshttps://www.acr.org/-/ media/ACR/Files/RADS/Lung-RADS/LungRADSAssessmentCategoriesv1-1.pdf on January 1, 2020.
- 57. Kim RY, Rendle KA, Mitra N, Saia CA, Neslund-Dudas C, Greenlee RT, et al. Racial Disparities in Adherence to Annual Lung Cancer Screening and Recommended Follow-Up Care: A Multicenter Cohort Study. Ann Am Thorac Soc. 2022;19(9):1561–9. [PubMed: 35167781]
- Gareen IF, Duan F, Greco EM, Snyder BS, Boiselle PM, Park ER, et al. Impact of lung cancer screening results on participant health-related quality of life and state anxiety in the National Lung Screening Trial. Cancer. 2014;120(21):3401–9. [PubMed: 25065710]
- van den Bergh KA, Essink-Bot ML, Borsboom GJ, Th Scholten E, Prokop M, de Koning HJ, et al. Short-term health-related quality of life consequences in a lung cancer CT screening trial (NELSON). Br J Cancer. 2010;102(1):27–34. [PubMed: 19935789]
- 60. Han SS, Chow E, Ten Haaf K, Toumazis I, Cao P, Bastani M, et al. Disparities of National Lung Cancer Screening Guidelines in the US Population. J Natl Cancer Inst. 2020;112(11):1136–42. [PubMed: 32040195]
- Tanner NT, Brasher PB, Wojciechowski B, Ward R, Slatore C, Gebregziabher M, et al. Screening Adherence in the Veterans Administration Lung Cancer Screening Demonstration Project. Chest. 2020;158(4):1742–52. [PubMed: 32439505]

- Wildstein KA, Faustini Y, Yip R, Henschke CI, Ostroff JS. Longitudinal predictors of adherence to annual follow-up in a lung cancer screening programme. J Med Screen. 2011;18(3):154–9. [PubMed: 22045825]
- 63. Spalluto L, Lewis J, Sandler K, Massion P, Dittus R, Roumie C. P3.11–23 Adherence to Annual Low-Dose CT Lung Cancer Screening at a Large Academic Institution. Journal of Thoracic Oncology. 2018;13(10):S967–S8.
- Brasher P, Tanner N, Yeager D, Silvestri G. Adherence to Annual Lung Cancer Screening within the Veterans Health Administration Lung Cancer Screening Demonstration Project. Chest. 2018;154(4):636a–7a. [PubMed: 29705221]
- Blom EF, Ten Haaf K, Arenberg DA, de Koning HJ. Treatment capacity required for full-scale implementation of lung cancer screening in the United States. Cancer. 2019;125(12):2039–48. [PubMed: 30811590]
- 66. Gould MK. Personalized lung cancer screening: Are we ready to ENGAGE? Cancer. 2021;127(23):4362–4. [PubMed: 34383308]
- 67. van der Aalst CM, Ten Haaf K, de Koning HJ. Implementation of lung cancer screening: what are the main issues? Transl Lung Cancer Res. 2021;10(2):1050–63. [PubMed: 33718044]
- 68. Goffin JR, Flanagan WM, Miller AB, Fitzgerald NR, Memon S, Wolfson MC, et al. Costeffectiveness of Lung Cancer Screening in Canada. JAMA Oncol. 2015;1(6):807–13. [PubMed: 26226181]
- 69. Bethune R, Wu L, Goodridge D, Hergott C, Osgood N, Manns B, et al. The Clinical Benefit And Cost-Effectiveness Of Adding A Smoking Cessation Program To A Simulated Lung Cancer Screening Program In Saskatchewan, Canada. American Journal of Respiratory and Critical Care Medicine. 2017;195.
- 70. Cao P, Jeon J, Levy DT, Jayasekera JC, Cadham CJ, Mandelblatt JS, et al. Potential Impact of Cessation Interventions at the Point of Lung Cancer Screening on Lung Cancer and Overall Mortality in the United States. J Thorac Oncol. 2020;15(7):1160–9. [PubMed: 32160967]
- Cadham CJ, Cao P, Jayasekera J, Taylor KL, Levy DT, Jeon J, et al. Cost-Effectiveness of Smoking Cessation Interventions in the Lung Cancer Screening Setting: A Simulation Study. J Natl Cancer Inst. 2021.
- Bellinger C, Pinsky P, Foley K, Case D, Dharod A, Miller D. Lung Cancer Screening Benefits and Harms Stratified by Patient Risk: Information to Improve Patient Decision Aids. Ann Am Thorac Soc. 2019;16(4):512–4. [PubMed: 30620619]

### **Reproducible Research Statement:**

- Study protocol: Not available.
- Statistical code: Not available.
- Data set: Key model inputs are posted as a data supplement on Annals website. Inputs obtained from the CISNET's Smoking History Generator can be obtained from the CISNET's Resource page at https://resources.cisnet.cancer.gov/projects/#shg/tce/summary. Results from the sensitivity analyses using the Lung Cancer Death Risk Assessment Tool (LCDRAT) and the PLCOm2012 model with life expectancy are available from the authors upon request.

(A)

 ★ A-50-80-30-15
 ⇒ A-55-80-20-15
 ● A-55-80-30-15
 ♦ No Screening \$50,000 WTP \$100,000 WTP A-50-80-xx% PLCOm2012 A-55-80-xx% PLCOm2012 A-50-80-20-15 Additional QALY Gained Relative to the No Screening Strategy per 100,000 Persons Alive at Age 45 3,00 2.50 2,00 1,50 1,00 50 25 175 50 125 200 75 urred (in million US\$) Relative to the No Screening Strategy Additional Costs Inc per 100,000 Persons Alive at Age 45 (B) 3,50 \$50,000 WTP \$100,000 WTP A-50-80-x.x% LCDRAT A-55-80-x.x% LCDRAT A-50-80-30-15 A-55-80-20-15 A-55-80-30-15 Strateov 3.00 Additional QALY Gained Relative to the No Screening per 100,000 Persons Alive at Age 45 A-50-80-0.6% LO 2,50 2,00 1.50 .0% LCDRA 1,00 50 25 125 150 175 75 100 200 rred (in million US\$) Relative to the No ng Strategy Additional Costs In per 100,000 Persons Alive at Age 45

### Figure 1.

Additional Total Health Benefits (Measured Using QALY) Gained and Costs Incurred Associated With Categorical Age-Smoking and Risk Model-Based Screening Strategies Relative to the No Screening Strategy Based on the Mean Values Across the 4 CISNET Models under the base-case analysis Using (A) the PLCOm2012 Risk Prediction Model and (B) the Lung Cancer Death Risk Assessment Tool (LCDRAT) Risk Prediction Model. <sup>¶</sup>The screening strategies are labeled as follows: For categorical age-smoking strategies, frequency (A–annual)–age start–age stop–minimum pack-years–maximum years since quitting; For risk model-based strategies, frequency (A–annual)–age start–age stop–6-year lung cancer risk threshold per the risk prediction model specified \*Strategies in bold text are the cost-effective strategies (defined as those strategies with an

ICER lower than \$100,000) relative to the strategy that precedes it on the efficiency frontier. <sup>†</sup>All outcomes are discounted at a 3% annual rate.



**Abbreviations:** QALY, quality-adjusted life-years; USPSTF, U.S. Preventive Services Task Force; WTP, willingness-to-pay threshold; CISNET, Cancer Intervention and Surveillance Modeling Network.

### Sensitivity analysis of A-50-80-1.2% PLCOm2012 strategy recommendation as compared to the strategy preceding it on the efficiency frontier, A-50-80-1.3% PLCOm2012 (Baseline ICER = \$94,659)

	(Dacomio i		0 1,000)			
\$50,0	00 \$70,000	\$90,000	\$110,000	\$130,000	\$150,000	\$170,000
Utility of LDCT‡	\$76,321		• •			\$162,642
Utility of Stage I NSCLC	\$68,746				\$151	,923
Utility of Indeterminate Findings†	\$84,3	14		\$125,438		
Discount Factor*	\$77,959		9	6116,636		
Cost of LDCT	\$78,465		\$110	,852		
Cost of Tx during Continuous Phase	\$8	8,794	\$100,523			
Utility of Limited SCLC		\$91,665	\$97,854			
Utility of Stage IV NSCLC		\$92,233	\$97,216			
Utility of Stage II NSCLC		\$92,475	\$96,948			
Cost of Tx during Terminal Phase LC		\$93,039	\$96,278			
Cost of Follow-Up LDCT		\$93,175	\$96,142			
Utility of Stage III NSCLC		\$93,260 📕 \$	\$96,100			
Cost of Tx during Entry Phase		\$93,758	95,559			
Utility of Terminal Phase LC		\$94,260 \$	95,060			
Cost of Tx during Terminal Phase OCM		\$94,291 \$	95,026			
Utility of Terminal Phase OCM		\$94,368 \$	94,951			
Cost of Operational Death		\$94,385 \$	94,933			
Utility of Extended SCLC		\$94,459 \$9	94,859			

### Figure 2.

Univariate Sensitivity Analyses ( $\pm 25\%$  of their base-case value unless otherwise indicated) of the 1.2% 6-year PLCOm2012 risk strategies that start screening at age 50 years relative to their preceding strategy on the efficiency frontier (1.3% 6-year PLCOm2012 risk strategy) from the base-case analysis.

<sup>‡</sup>minimum utility was –1 day per LDCT exam; maximum utility was 0 days per LDCT exam <sup>†</sup>minimum utility was –0.02 per indeterminate finding; maximum utility was –0.005 per indeterminate finding

\*minimum discounting factor was 1%; maximum discounting factor was 5%
The screening strategies are labeled as follows: frequency (A-annual)-age start-age stop6-year lung cancer risk threshold per the risk prediction model specified

**Abbreviations:** ICER, incremental cost-effectiveness ratio; PLCO, Prostate, Lung, Colorectal and Ovarian Screening Trial, LDCT, low-dose computed tomography; NSCLC, non-small cell lung cancer; Tx, treatment; LC, lung cancer; SCLC, small cell lung cancer; OCM, other causes of mortality. Table 1.

# Base-Case Analysis Using the PLCOm2012 Risk Prediction Model.

Additional health benefits gained, and costs incurred from risk model-based screening strategies Using the PLCOm2012 Risk Prediction Model relative to the No Screening strategy per 100,000 individuals alive at age 45 with no prior lung cancer diagnosis and their respective incremental cost effectiveness ratios (ICERs) based on the average values across the 4 CISNET models.

Toumazis et al.

Strategies denoted in bold text comprised the cost-effectiveness efficiency frontier.

Screening Strategy	Additional Costs Incurred to the No Screening Strategy, million 2020 US \$ (model range)	Additional QALYs Accrued from Screening Relative to the No Screening Strategy, n (model range)	ICER (based on QALY) vs No Screening, 2020 US \$ per QALY gained (model range)	ICER (based on QALYs) vs. Strategy Preceding it on the Efficiency Frontier, 2020 US \$ per QALY gained (model range)
No Screening	\$0	0	NA	NA
A-55-80-2.2% PLCOm2012	\$51,931,287	1,336	\$38,865	Weakly Dominated (\$38,865)
A-50-80-2.2% PLCOm2012	\$52,002,812	1,338	\$38,847	\$38,847
A-55-80-2.0% PLCOm2012	\$56,810,234	1,420	\$39,993	Weakly Dominated (\$58,743)
A-50-80-2.0% PLCOm2012	\$56,992,252	1,428	\$39,905	\$55,714
A-55-80-1.8% PLCOm2012	\$62,528,608	1,503	\$41,586	Weakly Dominated (\$73,454)
A-50-80-1.8% PLCOm2012	\$63,078,811	1,521	\$41,446	Weakly Dominated (\$64,919)
A-55-80-1.7% PLCOm2012	\$65,623,264	1,544	\$42,479	Weakly Dominated (\$74,014)
A-50-80-1.7% PLCOm2012	\$66,468,174	1,571	\$42,298	Weakly Dominated (\$66,164)
A-55-80-30-15 (2013 USPSTF)	\$66,519,606	1,421	\$46,795	Strongly Dominated (-\$1,425,040)
A-55-80-1.6% PLCOm2012	\$68,905,550	1,593	\$43,235	Weakly Dominated (\$71,976)
A-50-80-1.6% PLCOm2012	\$70,233,361	1,632	\$43,030	\$64,912
A-55-80-1.5% PLCOm2012	\$72,587,371	1,641	\$44,231	Weakly Dominated (\$264,953)
A-50-80-1.5% PLCOm2012	\$74,507,098	1,685	\$44,210	Weakly Dominated (\$80,480)
A-55-80-1.4% PLCOm2012	\$76,532,995	1,689	\$45,306	Weakly Dominated (\$110,399)
A-50-80-1.4% PLCOm2012	\$79,037,632	1,741	\$45,372	\$80,175
A-55-80-1.3% PLCOm2012	\$80,622,944	1,731	\$46,569	Strongly Dominated (\$-147,302)
A-50-80-1.3% PLCOm2012	\$83,982,177	1,797	\$46,731	\$89,680
A-55-80-1.2% PLCOm2012	\$85,130,409	1,774	\$47,977	Strongly Dominated (\$–50,475)
A-50-80-30-15	\$85,736,541	1,588	\$53,966	Strongly Dominated (\$-8,417)
A-55-80-1.1% PLCOm2012	\$89,611,084	1,818	\$49,282	Weakly Dominated (\$265,843)
A-55-80-20-15	\$89,674,227	1,678	\$53,435	Strongly Dominated (\$-47,851)
A-50-80-1.2% PLCOm2012	\$89,681,756	1,857	\$48,285	\$94,659

$\geq$
È
±.
2
0
2
0
3
Ξ.
5
õ
Ξ.
<u> </u>
¥

Aut	
thor	
Ma	
nus	
Ĉ.	

Screening Strategy A -55-80-1 0% PI COm 2012	Additional Costs Incurred to the No Screening Strategy, million 2020 US \$ (model range) \$64 357 570	Additional QALY's Accrued from Screening Relative to the No Screening Strategy, n (model range) 1 858	ICER (based on QALY) vs No Screening, 2020 US \$ per QALY gained (model range) \$50,777	ICER (based on QALYs) vs. Strategy Preceding it on the Efficiency Frontier, 2020 US \$ per QALY gained (model range) Weakby Dominated (\$5.050 306)
A-50-80-1.1% PLCOm2012	\$96,027,274	1,914	\$50,163	Weakly Dominated (\$111,445)
A-55-80-0.9% PLCOm2012	\$99,648,273	1,897	\$52,526	Weakly Dominated (\$250,616)
A-50-80-1.0% PLCOm2012	\$102,964,181	1,977	\$52,055	\$110,105
A-55-80-0.8% PLCOm2012	\$105,619,756	1,939	\$54,467	Strongly Dominated (-\$68,364)
A-50-80-0.9% PLCOm2012	\$110,941,735	2,036	\$54,467	\$135,497
A-55-80-0.7% PLCOm2012	\$112,417,377	1,974	\$56,922	Strongly Dominated (-\$23,828)
A-50-80-20-15 (2021 USPSTF)	\$116,109,362	1,857	\$62,514	Strongly Dominated (-\$28,783)
A-50-80-0.8% PLCOm2012	\$119,980,323	2,087	\$57,464	\$177,016
A-55-80-0.6% PLCOm2012	\$120,487,811	2,009	\$59,957	Strongly Dominated (-\$6,477)
A-50-80-0.7% PLCOm2012	\$130,042,132	2,139	\$60,779	\$194,791
A-55-80-0.5% PLCOm2012	\$130,389,883	2,049	\$63,614	Strongly Dominated (-\$3,869)
A-50-80-0.6% PLCOm2012	\$140,582,980	2,180	\$64,478	\$258,743
A-50-80-0.5% PLCOm2012	\$152,844,752	2,225	\$68,684	\$272,444

\* The screening strategies are labeled as follows: For categorical age-smoking strategies, frequency (A-annual)-age start-age stop-minimum pack-years-maximum years since quitting; For risk model-based strategies, frequency (A-annual)-age start-age stop-6-year lung cancer risk threshold per the risk prediction model specified.

Note: The efficiency frontier comprises of the strategies denoted in bold text.

Abbreviations: QALX, quality-adjusted life-years; USPSTF, U.S. Preventive Services Task Force; ICER, incremental cost-effectiveness ratio; CISNET, Cancer Intervention and Surveillance Modeling Network; PLCOm2012, Prostate, Lung, Colorectal, Ovarian Cancer Screening Trial modified 2012 risk prediction model.

Author Manuscript

Table 2.

Screening Outcomes and Utilization Rates Using the PLCOm2012 Risk Prediction Model.

alive at age 45 years, with no prior lung cancer diagnosis. Strategies denoted in bold text comprised the cost-effectiveness efficiency frontier under the Clinical outcomes and utilization of LDCT by screening programs based on the average across the 4 CISNET models for a cohort of 100,000 persons base-case analysis.

Screening Strategy	Persons ever- screened, %	LDCT Screens, n	Total Lung Cancer Cases, n	Screen-detected Lung Cancer Cases, n	Overdiagnosis <sup>†</sup> , %	Total Lung Cancer Deaths, n	Lung Cancer Deaths Averted, n	Lung Cancer Mortality Reduction, %
No Screening	NA	NA	5,075	NA	NA	3,988	NA	NA
A-50-80-20-15 (2021 USPSTF)	22.6	420,553	5,152	1,295	5.9	3,521	467	11.7
A-50-80-30-15	15.0	291,575	5,138	1,068	5.9	3,608	380	9.5
A-50-80-0.5% PLCOm2012	32.0	637,426	5,180	1,710	6.2	3,374	614	15.4
A-50-80-0.6% PLCOm2012	30.0	577,395	5,178	1,665	6.2	3,395	593	14.9
A-50-80-0.7% PLCOm2012	28.2	526,150	5,176	1,622	6.2	3,413	576	14.4
A-50-80-0.8% PLCOm2012	26.6	479,972	5,174	1,582	6.3	3,430	559	14.0
A-50-80-0.9% PLCOm2012	25.1	438,777	5,171	1,540	6.3	3,449	540	13.5
A-50-80-1.0% PLCOm2012	23.9	403,254	5,170	1,501	6.3	3,464	525	13.2
A-50-80-1.1% PLCOm2012	22.7	372,216	5,168	1,463	6.4	3,480	508	12.7
A-50-80-1.2% PLCOm2012	21.7	344,519	5,166	1,427	6.4	3,496	493	12.4
A-50-80-1.3% PLCOm2012	20.7	319,642	5,165	1,388	6.5	3,510	478	12.0
A-50-80-1.4% PLCOm2012	19.8	298,086	5,163	1,356	6.5	3,524	464	11.6
A-50-80-1.5% PLCOm2012	19.0	278,448	5,162	1,322	6.6	3,538	451	11.3
A-50-80-1.6% PLCOm2012	18.3	260,797	5,160	1,289	6.6	3,550	438	11.0
A-50-80-1.7% PLCOm2012	17.6	245,264	5,159	1,257	6.7	3,565	423	10.6
A-50-80-1.8% PLCOm2012	17.0	230,814	5,157	1,226	6.7	3,577	412	10.3
A-50-80-2.0% PLCOm2012	15.8	205,802	5,154	1,169	6.8	3,599	389	9.8
A-50-80-2.2% PLCOm2012	14.7	184,998	5,151	1,116	6.8	3,620	368	9.2
A-55-80-20-15	20.6	331,326	5,151	1,234	6.2	3,553	435	10.9
A-55-80-30-15 (2013 USPSTF)	14.1	228,348	5,137	1,016	6.1	3,635	354	8.9
A-55-80-0.5% PLCOm2012	31.4	562,664	5,180	1,656	6.4	3,402	586	14.7
A-55-80-0.6% PLCOm2012	29.5	511,319	5,178	1,614	6.4	3,422	566	14.2

Author Manuscrip	
Author Manuscrip	-
Author Manuscrip	<b>D</b>
uthor Manuscrip	-
ithor Manuscrip	
thor Manuscrip	-
nor Manuscrip	-
or Manuscrip	
or Manuscrip	0
r Manuscrip	0
Manuscrip	_
Manuscrip	
Manuscrip	_
lanuscrip	<
anuscrip	_
Inuscrip	ດນ
nuscrip	~
iuscrip	
Jscrip	-
scrip	<u> </u>
scrip	~
crip	0,
řip	$\mathbf{O}$
5	$\simeq$
<u>–</u>	- 1
0	
	0

Screening Strategy sci	rsons ever- reened, %	LDCT Screens, n	Cancer Cases, n	Lung Cancer Cases, n	Overdiagnosis $\dot{r},\%$	Cancer Deaths, n	Deaths Averted, n	Mortality Reduction, %
A-55-80-0.7% PLCOm2012	27.7	468,778	5,176	1,575	6.4	3,437	551	13.8
A-55-80-0.8% PLCOm2012	26.2	434,033	5,174	1,540	6.4	3,452	537	13.5
A-55-80-0.9% PLCOm2012	24.8	403,164	5,172	1,504	6.4	3,468	520	13.0
A-55-80-1.0% PLCOm2012	23.7	376,792	5,170	1,470	6.5	3,480	508	12.7
A-55-80-1.1% PLCOm2012	22.6	353,236	5,168	1,438	6.5	3,492	496	12.4
A-55-80-1.2% PLCOm2012	21.6	331,516	5,166	1,406	6.5	3,506	482	12.1
A-55-80-1.3% PLCOm2012	20.6	310,395	5,164	1,372	6.5	3,518	470	11.8
A-55-80-1.4% PLCOm2012	19.8	291,482	5,163	1,343	6.6	3,530	458	11.5
A-55-80-1.5% PLCOm2012	19.0	273,801	5,161	1,312	6.6	3,543	445	11.2
A-55-80-1.6% PLCOm2012	18.3	257,667	5,160	1,281	6.7	3,555	433	10.9
A-55-80-1.7% PLCOm2012	17.6	243,228	5,159	1,251	6.7	3,568	420	10.5
A-55-80-1.8% PLCOm2012	17.0	229,535	5,157	1,222	6.7	3,578	410	10.3
A-55-80-2.0% PLCOm2012	15.8	205,393	5,154	1,167	6.8	3,600	388	9.7
A-55-80-2.2% PLCOm2012	14.7	184,889	5,151	1,116	6.8	3,621	368	9.2

â ŝ 5 model-based strategies, frequency (A-annual)-age start-age stop-6-year lung cancer risk threshold per the risk prediction model specified. \* Overdiagnosis was defined as the excess lung cancer cases in the screening vs. the no screening scenario, divided by the number of screen-detected lung cancer cases in the screening scenario

Abbreviations: LDCT, low-dose computed tomography; USPSTF, U.S. Preventive Services Task Force; CISNET, Cancer Intervention and Surveillance Modeling Network.

-
~
<u> </u>
t
_
=
0
-
~
~
_
$\sim$
a
lar
lan
lanu
lanus
lanus
lanusc
lanuscr
lanuscri
lanuscrip

Table 3.

# **Base-Case Analysis Using the LCDRAT Model.**

No Screening strategy per 100,000 individuals alive at age 45 with no prior lung cancer diagnosis and their respective incremental cost effectiveness ratios Additional health benefits gained, and costs incurred from risk model-based screening strategies Using the LCDRAT Risk Prediction Model relative to the (ICERs) based on the average values across the 4 CISNET models.

Toumazis et al.

Strategies denoted in bold text comprised the cost-effectiveness efficiency frontier.

Screening Strategy	Additional Costs Incurred to the No Screening Strategy, million 2020 US \$ (model range)	Additional OALYS Accrued from Screening Relative to the No Screening Strategy, n (model range)	ICER (based on QALY) vs No Screening, 2020 US \$ per QALY gained (model range)	ICER (based on QALYs) vs. Strategy Preceding it on the Efficiency Frontier, 2020 US \$ per QALY gained (model range)
No Screening	\$0	0	NA	NA
A-55-80-2.2% LCDRAT	\$51,661,619	1,298	\$39,796	\$39,796
A-50-80-2.2% LCDRAT	\$51,661,619	1,298	\$39,796	Weakly Dominated (\$39,796)
A-50-80-2.0% LCDRAT	\$56,887,368	1,387	\$40,993	\$58,329
A-55-80-2.0% LCDRAT	\$56,888,295	1,387	\$40,994	Strongly Dominated (\$-24,180)
A-55-80-1.8% LCDRAT	\$62,829,047	1,483	\$42,359	Weakly Dominated (\$62,214)
A-50-80-1.8% LCDRAT	\$62,842,162	1,483	\$42,356	\$62,091
A-55-80-30-15 (2013 USPSTF)	\$66,519,605	1,421	\$46,795	Strongly Dominated (\$-59,192)
A-50-80-1.7% LCDRAT	\$66,848,407	1,541	\$43,352	\$68,675
A-55-80-1.7% LCDRAT	\$66,861,638	1,540	\$43,391	Strongly Dominated (\$-12,304)
A-55-80-1.6% LCDRAT	\$69,907,510	1,582	\$44,167	Weakly Dominated (\$74,962)
A-50-80-1.6% LCDRAT	\$70,083,155	1,586	\$44,171	\$72,432
A-55-80-1.5% LCDRAT	\$73,766,904	1,631	\$45,215	Weakly Dominated (\$82,158)
A-50-80-1.5% LCDRAT	\$74,248,144	1,641	\$45,227	Weakly Dominated (\$75,667)
A-55-80-1.4% LCDRAT	\$77,646,789	1,676	\$46,301	Weakly Dominated (\$83,728)
A-50-80-1.4% LCDRAT	\$78,824,273	1,703	\$46,277	\$74,932
A-55-80-1.3% LCDRAT	\$81,713,928	1,721	\$47,460	Weakly Dominated (\$156,573)
A-50-80-1.3% LCDRAT	\$82,957,510	1,752	\$47,332	Weakly Dominated (\$83,720)
A-50-80-30-15	\$85,736,540	1,588	\$53,966	Strongly Dominated (\$-60,331)
A-55-80-1.2% LCDRAT	\$86,204,812	1,770	\$48,692	Weakly Dominated (\$110,001)
A-50-80-1.2% LCDRAT	\$88,600,638	1,820	\$48,666	\$83,362
A-55-80-20-15	\$89,674,226	1,678	\$53,435	Strongly Dominated (\$-7,540)
A-55-80-1.1% LCDRAT	\$92,258,356	1,823	\$50,589	Weakly Dominated (\$1,171,649)

-
~
-
_
-
-
$\mathbf{O}$
$\mathbf{\circ}$
_
_
-
~
0
<u> </u>
_
_
_
_
<u> </u>
10
CD .
~
$\sim$
<b>U</b>
_
_
$\mathbf{U}$
<u> </u>

Screening Strategy	Additional Costs Incurred to the No Screening Strategy, million 2020 US \$ (model range)	Additional QALYs Accrued from Screening Relative to the No Screening Strategy, n (model range)	ICER (based on QALY) vs No Screening, 2020 US \$ per QALY gained (model range)	ICER (based on QALYs) vs. Strategy Preceding it on the Efficiency Frontier, 2020 US \$ per QALY gained (model range)
A-50-80-1.1% LCDRAT	\$94,746,515	1,883	\$50,297	\$97,284
A-55-80-1.0% LCDRAT	\$98,097,694	1,871	\$52,407	Strongly Dominated (\$-281,819)
A-50-80-1.0% LCDRAT	\$101,584,480	1,941	\$52,311	\$117,493
A-55-80-0.9% LCDRAT	\$104,409,660	1,918	\$54,434	Strongly Dominated (\$-118,437)
A-50-80-0.9% LCDRAT	\$109,685,029	2,005	\$54,700	\$128,085
A-55-80-0.8% LCDRAT	\$112,030,313	1,968	\$56,908	Strongly Dominated (\$-64,129)
A-50-80-20-15 (2021 USPSTF)	\$116,109,362	1,857	\$62,514	Strongly Dominated (\$-43,448)
A-50-80-0.8% LCDRAT	\$119,182,025	2,070	\$57,561	\$145,327
A-55-80-0.7% LCDRAT	\$120,884,274	2,023	\$59,741	Strongly Dominated (\$-36,160)
A-50-80-0.7% LCDRAT	\$130,415,640	2,146	\$60,753	\$147,585
A-55-80-0.6% LCDRAT	\$131,289,693	2,074	\$63,301	Strongly Dominated (\$-12,036)
A-50-80-0.6% LCDRAT	\$143,738,815	2,216	\$64,836	\$189,526
A-55-80-0.5% LCDRAT	\$144,141,879	2,111	\$68,252	Strongly Dominated (\$-3,837)
A-50-80-0.5% LCDRAT	\$160,443,427	2,268	\$70,715	\$321,708

\* The screening strategies are labeled as follows: For categorical age-smoking strategies, frequency (A-annual)-age start-age stop-minimum pack-years-maximum years since quitting; For risk model-based strategies, frequency (A-annual)-age start-age stop-6-year lung cancer risk threshold per the risk prediction model specified.

Note: The efficiency frontier comprises of the strategies denoted in bold text.

Abbreviations: QALY, quality-adjusted life-years; USPSTF, U.S. Preventive Services Task Force; ICER, incremental cost-effectiveness ratio; CISNET, Cancer Intervention and Surveillance Modeling Network; LCDRAT, Lung Cancer Death Risk Assessment Tool risk prediction model.